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* Question 9- 243, 252, 261, 270(275) 297.

LH3+ (24443)= 253

243

’252*(273579)‘ 26 | 261

26 275
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*Question 11- 5, 13,25, 41(51)91
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Question 13- probability of getting 2 orange ball in
category 2 is what percent of probability of getting 2

30.4%
15.3% blue ball in category 4.
42.7% T 13- Ut 2 F 2 A1 e U9 L skl ITiRiendr 2ot 4 §
21.8%. 2Wﬁawwﬁllgwoml 1 feramT gferera 27
None of these
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Question 1- Ravi scored 456 marks in a exam and Raj got 54% marks

in the same exam which @m Ravi. If the minimum

passing marks in the exam is 34%, then how much more marks did

O IQCW' 1«(5 £ Ravi score than the minimum passing marks.

P sy _ 54 1-{|qﬁgohqﬁ&1Tﬁ45§ %W%@ﬁ?@ﬁﬁﬁmﬁﬂ%
] <Y 3{eh ST foRT SIT Tfel § 24 3o A 2| Il TETT H =AdH 101 37 34% B,
= b3) Qe A Sl SfeRt & foRa tfires 37k wmw feRu? ‘

540 < ) S =3x8 A- 200
: g B~ 184
Mg 620 S

2 @‘f‘l %{ ‘&(f E- Non« 30
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Question 2- In a family of four members P, Q, R and S Rs. 50,000
was divided among them. P took 2/3 of the money, Q took 1/5 of the
remaining amount, and the rest was divided between R and S in the
ratio of 2: 3 respectively. How mudh(approx.y did R get as his share?

30 a1 2 IR HEET P, Q, R 3 S ¥ U TRATH 50,000 ¥ I
forvrisTa fepu @ 2| P 7 &= &1 2/3 9 foram, Q 3 91w TRy =7 1/5 9T
form, ST RT ol R 3 S o Sii=l ShHeM: 2: 3 3 STUTd H forTisTd
Rl TRAT| R oh1 3Gk 008 o &9 | TohaHT (SHTHT) fHen?

| , https://t.me/mathbytarunsirmepl
R 22 T A- Rs 3334
DRES = —B- Rs 5334
C- Rs 6334
D- Rs 4334

E- none of these
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Question 3- The present age of A 1s four times the present age of B. 8

years hence, the ratio of ages of A and B becomes 16:5. If x 1s the -

seuar/e()f the p@e of s@ﬁ, then what will be the value of x+4

(O>>}/ T4 3- A hl IqH 3T B hl SdH 3T 1 IR TET 81 § 98 91E, A 3T
\)\ 0o\ s a\ (\\DH 0o\ \(3‘ ¢
287" B I ST T ST 16:5 &1 T 2 QJIG?%I SHT AT T a1 x &, I

x+4 T HTH T T2 o
A= 96 +4 30

%) A i % T34
it Huy | A- 488
(q I> <L1@ )H:&gr B- 400
b =28 5 =2y C- 588
W
= &? —E- none of these
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Question 4- 1 card 1s randomly chosen from a deck of which black

face cards have been removed, find the probability that the picked .

card 1s a red face card.

T 4- 1 TS ! A1gfossh &Y € Ueh Soh 8 AT ST & ISEH § el B -

e 5 ﬁqw% GHTIAT T4 aﬁﬁlﬁ%ww e oTTeT Bl 1S 2|

S \1=G
( (
§ _ &b PE)= £ 30

52 (W=
| =16 o A= 3/23
= 5/23 | B- 4/23
e C- 6/23
D- 7/23

E- none of these
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Question 5- Ajay earned interest when he invested certain sum at 32%

p.a. simple interest for 5 years 1s Rs. 2400. The same sum when

mvested at (R + 12)% p.a. compound interest, compounded annually
amounts to Rs.2535 at the end of two years. Find the value of R

5T 5- 3T A 32% Jfdl o9 hi G W Ueh (I TIRT T (AT hileh 5 991 o
ToTT ATTROT SATST 2400 T AT TR (R + 12)% AT Fshdlg sATS
o 99T o 9T g TRy, S 9t o 37 § 2535 F9 1Nk Bidi &l R &7

_ T 1A ehitoTl o
, - 3 30

PRV G \6070 B~ 18

C-20

D- 25

None of these
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Question 6- Pipe A can fill a tank 1in 20 hours, and pipe B can fill 50%
of the tank 1n 12 hours. Pipe C can empty the tank in 16 hours. If all
the pipes are opened at 5:00 am, and pipe C 1s closed after 6 hours,
then at what time the tank will be filled

T4 6- U187 A Teh Zohl 3hl 20 Bid H W Hehal §, I IT5T B Zohl o 50%
T 3T 12 I | WX Wehal & U189 C Zohl 3l 16 & T Wett 3L Hehl 2 IS
Gl U159 eI 5:00 SIS @it SITd &, ST U189 C ol 6 FE o S8 §ig
feam Srat 2, ST ford A st W SITwe

i l | A- 8:00 AM
s 9 h B=8:00 PM
| =34 30 C-9:00 am
D- 10:0- AM

E- none of these
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Question 7- S and K decided to invest in a business. They put in their
capitals in the ratio of 5:3.However, 1n the next year S invested 40%
more money and K withdrew 20% of his capital. If at the end of
second year S got Rs 8000 as profit, then find the profit earned by K
T 7- S IR K 7 T SATER H THeI3T i oht (U1 orm S8 7ot it
o1 5: 3 o STAUTA H Tl BIeAT(oh, ST I8 H S 7 40% TR G oAl fHerm1
e 3K 319t Isit 3BT 20% oo of fofam| 2fe ge o o 3 d S =l

A ETH 8000@?3 et % al K g AN A1 31d shifs.
~A- Rs 3600

B- Rs 4600
30 C-Rs 3000
D- 5000
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| Question 8- The marked price of an article 1s 40% more than the cost
ﬁg] price. Ajay allows y% discount and eam@; profit. If he allows.

2y% discount he earng ---% profit. Then which values given below
will satisfy the above condition.

(AJZ4 B-10,12 C-26,12 D-302
T 8- Ueh ] T Hfohd T 63 0T © 40% 314 21 3191 y% B ol
& 3 ----% T I AT 8 S T8 2y% TE Il & Al FG % TATH

3SId et 81 TR i<l faT 71T %14 € /T 3UUh 3 ol I HAN

A- 12,4 B-10,12 .€26,12 D-3026 i- only A
11- Band D
30 iz only C

iv- Both B andC

v- None of these
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Question 9- Ratio of the cost price of table and chair 1s 5 : 6. If the
shopkeeper sold the table at 20% profit and chair at 30% profit and.
discount offer of 20% and 35 % on table and chair respectively , Then

what 1s the ratio of the marked price of table and chair ?

T 9- HST I T oh 5h3 T o1 IJUTA 5: 6 2| Tl THMER HS b1 20%
AT 9T 3 BT 3T 30% AT T SI=Idl § SR HST S HHT T HA: 20%
3T 35% ol E ohl URTHIT LT &, T HST I T o Hehd Hed 1

_ T T B2 SpEE
HW\Q &UQO)K -~ B- 6:7
C-7:8

D- 5:8

E- none of these
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Question 10- Three circle of radius 4 cm each touches each other

externally. Find the area enclosed by three circle.
T4 10- 4 GHft B3 ared i oI Uoh-g@L <Rl STl &9 § T931 Ld &) i

1§ TorT g1 &5 T hifSTy) 30
_ HO“(N SVEILS A-(10V3 - 81) cm?

B- (12V/3 - 81) cm?
C- (16V/3 - 81T) cm>
D- (18V/3 - 81) cm?

E- none of these
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